Unit (1)
-


1- The microbe which is able to live in extreme environment is called :

a) viruses

b) fungus

c) archae

d) bacteria

-


2- All are true about protozoa except :

a) non photo-synthetic

b) live in moist environment

c) prokaryote

d) most are motile

-


3- All are true about viruses except :

a) not a cell

b) obligate intracellular

c) made up of nucleic acid and protein

d) can be viewed by light microscope

-


4- the unit of heredity in living organism is :

a) cell 
b) gene

c) ribosome

d) mitochondria

-


5- All are true about DNA except :

a) coiled

b) order of bases called sequences 

c) single strand

d) contains 4 bashe
-


6- the base that is not present in RNA IS :

a) guanine

b) adenine

c) cytosine

d) thayamine

-


7- the protein synthetic machine in the cell is :

a) none of all

b) golgi apparatus

c) mitochondria

d) ribosome
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-


1- the periplasmic space in bacterial structure is present in :

a) none of all

b) gram positive bacteria only 

c) gram negative bacteria only

d) all

-


2- All are true about LPs coat of bacteria except :

a) composed of lipid A and polysaccharide

b) present in gram positive bacteria

c) major surface antigen 

d) basis of bacterial endotoxins
-


3-  the structure responsible for attachement between bacteria during conjugation is :
a) common pili

b) sex pili

c) endospore

d) flagella

-


4- All are true about endotoxins except :

a) less potent than exotoxins 

b) they are LPs in nature

c) heat labile

d) affect host only after bacterial disentigration

-


5- Bacteria require …………… in large concentrations :

a) iron 

b) carbon

c) potassium 

d) calcium 

-


6- the anaerobic organism grows:

a) only in presence of oxygen

b) only in absence of oxygen

c) in little concentration of oxygen 

d) in absence or presence of oxygen

-


7- All are methods of resistance to antibiotics except :

a) chromosomal resistance

b) increase permeability

c) extrachromosomal resistance
d) ptoduction of inactive enzymes 
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-


1-  Gram positive diplococci on the slide indicative for :
a) staph aureus 
b) bacillus anthrax

c) strept pneumonie

d) strpt pyogens

-


2- Nurseries meningetidis can be transmitted by :

a) air droplet

b) water

c) none of all

d) food

-


3- All are true abut neisseria gonorrhea except :

a) pairs

b) gram positive

c) grow on Thayer martin agar

d) causes penile discharge

-


4- All are gram negative bacilli except :

a) salmonella

b) shigella

c) E coli

d) Cholistridium tetani

-


5- bacillary dysentery is caused by :

a) bacillus anthrax

b) proteus

c) E coli

d) Shigella

-


6- the most common cause of UTI is :

a) Staph aureus

b) Shigella

c) E coli

d) Salmonella

-


7- Syphilis is caused by :

a) Treponema pertenue

b) Leptospira

c) Borrelia

d) Treponema pallidum 
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-


1-all are true about fungi except :

a) Includes yeast,molds,mashrom

b) have chitin in its wall

c) found nearly every where

d) it is prokaryote

-


2-  the single celled fungus is called :
a) yeast 

b) mold

c) mushroom

d) none of all

-


3- the black bread mold is species of :
a) rhizopus

b) mashroom

c) none of all

d) penicillium digitatum 

-


4- when yeasts ferment under anaerobic condition they produce :

a) entirely CO2

b) non of all

c) sugar

d) ethanol and CO2

-


5- Systemic or deep mycosis occur in the following situations :

a) immune deficiency state

b) always

c) cautaneous candidiasis

d) none of all 

-


6- All cause systemic mycosis except :

a) blastomycosis

b) histoplasmosis

c) cryptococcosis

d) dermatophytes
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-


1- All DNA viruses are ds DNA except :

a) pox virus

b) herpes virus

c) parvovirus

d) hepadna virus

-


2- All DNA viruses replicate in the nucleus except :

a) hepadna virus

b) pox virus

c) parvovirus 

d) herpes virus

-


3- All are true about viruses except :
a) lack membranes and cytoplasm 

b) contain only one type of nucleic acid 

c) they need living cells to exist 

d) facultative intracellular

-


4- infectious mononucleosis is caused by :

a) CMV

b) EBV

c) HSV

d) VZV

-


5- burkittt lymphoma is caused by :

a) CMV

b) HSV

c) EBV

d) VZV

-


6- Envelope of viruses is made of :

a) Protein 

b) Sugar

c) Lipid

d) None of all

-


7- All DNA viruses are naked except :

a) All

b) Herpes virus

c) Pox virus

d) Hepadna virus
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-


1- Malaria transmission is :

a) All 

b) Arthropode born

c) Airborne

d) Food born

-

2- A relatively sudden increase in number of cases of a particular disease in a particular area is called :
a) Sporadic

b) None of all

c) Epidemic

d) Endemic

-


3- the level of prevention that is concerned with health education is :

a) Primary prevention

b) Tertiary prevention

c) Secondary prevention

d) All

-


4- All are measures to control disease source except :
a) treatment

b) quarantine

c) overcrowding

d) isolation

-


5- Protection of the susceptible person is achieved by :

a) all

b) immunization

c) nutrition 

d) prophylaxis

-


6- the highest occurance of devise related infection is :

a) central venous catheter associated blood infection
b) urinary catheter associated UTI 

c) none of all

d) ventilator associated pneumonia

-


7- ………….. is risk factor for surgical site infection :

a) smoking

b) malnutrition

c) diabetes

d) all
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- 


1-Pathogen specific immunity is also called :

a) all
b) acquired immunity 
c) adaptive immunity
d) inducible immunity
-


2- All are true about immunization except :

a) it is artificial
b) it gives innate immunity

c) it is an active form of immunity

d) it is adaptive immunity

-


3- Humoral immunity is mediated by :

a) neutrophils

b) antibodies

c) T- lymphocytes

d) None of all

-


4- the first stage of microbial infection is called :

a) Pathogenicity

b) None of all

c) Colonization 

d) Toxigenicity

-


5- the invasion that attacks the interstitial cement is called :
a) hemolysin

b) collagenase

c) hyaluronidase
d) leukocidins

-


6- the macromolecule that induces immune response is called :

a) immunoglobulin

b) antibody

c) none of all

d) antigen

-


7- the major immunoglobulin of the blood is :

a) lg E
b) lg G

c) lg D

d) lg M
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-


1- the asexual reproduction of protozoa is called :
a) miosis

b) none of all

c) mitosis

d) binary fission

-


2- Parasite that cause harm to the body is called :

a) endoparasite

b) none of all

c) commensal

d) pathogenic

-


3- Bloody diarrhea can be caused by :

a) entamoeba histolytica

b) balantedium coli

c) all

d) none of all

-


4- …………….. is a urogenital protozoa :

a) giardia lamblia

b) all

c) trichomonas vaginalis

d) trypanosome cruzi 

-


5- Malaria is caused by :

a) toxoplasma

b) plasmodium

c) leishmania

d) none of all

-


6- the infective stage of cestodes is :

a) the adult worm

b) the plerocercoid

c) the egg

d) none of all 

-


7- All the following are intestinal nematodes except :

a) entrobius vermicularis

b) filarial worm

c) ancylostoma duodenale
d) ascaris lumbricoids

